This page was exported from - Free Cisco Training & Resources - Certification Exam Preparation
Export date: Wed Jul 9 17:27:32 2025/ +0000 GMT

[DFree-Dumps Exam E. HANABW151 99q VCE and PDF Dumps Updated By
assLeader For Free (Question 11 & ndash; Question 20)

New Updated E_ HANABW151 Exam Questions from PassLeader E. HANABW151 PDF dumps! Welcome to download the
newest PassL eader E HANABW151 VCE dumps: http://www.passleader.com/e-hanabw151.html (99 Q& As) Keywords:
E_HANABW151 exam dumps, E_HANABW151 exam questions, E HANABW151 VVCE dumps, E HANABW151 PDF dumps,

E HANABW151 practice tests, E HANABW151 study guide, E HANABW?151 braindumps, SAP Certified Application Specialist
- SAPBW on SAP HANA (Edition 2015) Exam Free E HANABW151 dumps download from Google Drive:
https://drive.google.com/open?id=0B-0b6L _QjGL pRkV pbWIFRGRKREOQ p.s. Free E. HANAAW?151 dumps download from
Google Drive: https.//drive.google.com/open?id=0B-ob6L_QjGL pR3FJeVI2WINKczQ QUESTION 11 Which of the following is
not a feature of Agile DataMart Layer and BW Workspace Layer? Please choose the correct answer. Response:
A.&#160;&#160;& #160; Resulting LSA++ B.&#160;&#160;&#160; Reduce layer size C.&#160;&#160;& #160; Migrate to
HANA optimize object D.&#160;&#160;&#160; Streamline EDW core Answer: B QUESTION 12 Transactional datais
loaded into different Info Providers that are partitioned according to characteristics. Identify from the following characteristics?
There are 2 correct answers to this question. Response: A.&#160;& #160;& #160; Organizational characteristics

B.&#160;& #160;& #160; Human characteristics C.&#160;& #160;& #160; Demographic characteristics D.&#160;& #160;& #160;
Time characteristics Answer: AD QUESTION 13 Name the two indexes involved in Partitioning of Write-Optimized DSOs There
are 2 correct answersto this question. Response: A.&#160;&#160;&#160; Main indexes B.&#160;&#160;&#160; ASP indexes
C.&#160;& #160;&#160; Activeindexes D.&#160;&#160;&#160; Deltaindexes Answer: AD QUESTION 14 List down the
tools required to repair or redo unexpected failures during load processes within the EDW? There are 3 correct answers to this
question. Response: A.&#160;&#160;&#160; Admin Cockpit B.&#160;&#160;&#160; M etadata Management

C.&#160;& #160;&#160; Process Chains D.&#160;&#160;&#160; Integrated Planning E.&#160;&#160;& #160; Data Store
Object Answer: ABC QUESTION 15 How can you use virtual navigation attributes and textsin a Virtual Provider based on an
SAP HANA model ? Please choose the correct answer. Response: A.&#160;&#160;& #160; Virtual master data
B.&#160;&#160;&#160; DSO Data C.&#160;&#160;&#160; Datastore D.&#160;&#160;&#160; RDA Data Answer: A
QUESTION 16 Which component is a part of Enterprise Data Warehouse Layer? Please choose the correct answer. Response:
A.&#160;&#160;&#160; Proportional Layer B.&#160;&#160;&#160; Reporting Layer C.&#160;&#160;&#160; Data
acquisition Layer D.&#160;&#160;&#160; Transactional Layer Answer: C QUESTION 17 Identify the three major components
of SAP NetWeaver Business Warehouse - EDW Persistency and Performance Management? There are 3 correct answers to this
question. Response: A.&#160;&#160;& #160; BWA B.&#160;& #160;& #160; Processors C.&#160;&#160;&#160; Achieve
D.&#160;& #160;&#160; Checking errors  E.&#160;& #160;&#160; BW Star Schema Answer: ACE QUESTION 18 Which tool
can you use to create a central Composite Provider? Please choose the correct answer. Response: A.&#160;& #160;& #160; SAP
BW Data Warehouse Workbench B.&#160;&#160;& #160; SAP HANA studio& #160; Eclipse-based BW modeling

C.&#160;& #160;& #160; SAP Netweaver Business Client& #160; BW Workspace Designer  D.&#160;& #160;& #160; SAP
BusinessObjects Explorer Answer: B QUESTION 19 What are the steps involved in procedure for HANA-Optimized
infocube-Conversion? There are 2 correct answers to this question. Response: A.&#160;& #160;&#160; Describe the Conversion
process B.&#160;&#160;&#160; Y ou can now use in put help to select InfoCubes for conversion C.&#160;& #160;& #160;
Elaborate the typical business scenarios where SAP HANA optimized InfoCubes can be used D.&#160;&#160;&#160; Y ou can
specify whether the log is displayed after conversion Answer: BD QUESTION 20 Which is not a performance of write-optimized
Data Store Objects. Identify from the following options. Please choose the correct answer. Response: A.&#160;& #160;& #160;
Mostly read access Aookups, transformations B.&#160;& #160;&#160; In Memory, no additional memory required for dynamic
objects C.&#160;&#160;&#160; Datais read/written frequently D.&#160;& #160;& #160; Need to keep in memory Answer: D
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